LMS Questions for [Course Name and Code]
(Five multiple-choice questions per unit with one correct answer and three incorrect answers. Use the second column to indicate the corresponding unit section.)
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	Section
	Question
	Correct answer
	Incorrect answer
	Incorrect answer
	Incorrect answer

	1/1
	
	Which of the following metrics is a key result indicator?
	net profit
	customer retention rate
	capacity utilization rate
	process downtime level

	1/2
	
	Calculating the customer retention (CUR) rate involves costs. Which of the following businesses is likely to have the lowest additional costs?
	a bank
	a restaurant
	a market shop
	a bookstore

	1/3
	
	The delivery in full, on time (DIFOT) rate should not fall below …
	… 95 percent.
	… 10 percent.
	… 25 percent.
	… 50 percent.

	1/4
	
	Which of the following is a step within the compliance checking process?
	finding possible model deviations
	collecting information from event logs
	producing a process model
	analyzing generated event logs

	1/5
	
	Which of the following is a characteristic related to process mining?
	an end-to-end view of the organization’s process model
	increased processing time
	manual generation of information
	the inability to gather information from different sources
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	2/1
	
	Which of the following is an encoding technique used to represent documents in the semantic space?
	bag of words (BoW)
	stemming
	singular value decomposition
	latent semantic analysis

	2/2
	
	Which of the following statements is correct?
	A low TF-IDF value indicates a word of low significance. 
	IDF is used to calculate the number of times a given word appears in a document.
	Term frequency (TF) counts the number of times a word appears in the corpus.
	The BoW technique represents the context of the whole corpus. 

	2/3
	
	Which Python library includes the LatentDirichletAllocation module and TruncatedSVD?
	Sklearn
	NumPy
	pandas
	Matplotlib

	2/4
	
	Which of the following statements about the LDA algorithm is incorrect?
	The total number of topics to be discovered is randomly defined.
	LDA is an unsupervised technique.
	LDA uses Dirichlet distribution.
	Each word is assigned to a specific topic.

	2/5
	
	Which of the following statements about the LSA algorithm is correct?
	SVD and distributional hypothesis are two techniques linked with LSA.
	LSA is a supervised technique in NLP.
	Each word can be linked with more than one topic.
	Words are grouped based on the frequency with which they appear.
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	3/1
	
	The number of single page sessions divided by the total number of sessions defines …
	… the bounce rate.
	… the exit rate.
	… the conversion rate.
	… engagement.

	3/2
	
	Which of the following represents a common value for the metric “average session duration” on a website?
	three minutes 
	ten minutes
	twenty minutes
	seven minutes

	3/3
	
	Which is not a common method for performing clickstream analysis?
	collaborative-filtering
	search engine optimization (SEO)
	internal site search
	email campaigns

	3/4
	
	Which of the following metrics can be used to determine the effectiveness of a SEO campaign?
	the number of pages accessed by direct traffic
	the number of pages accessed by email traffic
	the number of pages accessed by paid traffic
	the number of pages accessed by social traffic

	3/5
	
	Which of the following approaches is used in recommender systems?
	collaborative-filtering
	URL builder
	search engine optimization (SEO)
	internal site search
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	4/1
	
	Which of the following is an attribute linked with social media analytics?
	The data are in both structured and unstructured formats.
	The data are usually private and controlled by the company.
	The data are mostly in a structured format.
	The data are collected from the organizations’ management systems.

	4/2
	
	Which Python library is used for data analysis and manipulation?
	pandas
	NLTK
	scikit-learn
	Matplotlib

	4/3
	
	Which of the following is not a type of Twitter API?
	OAuth
	REST
	public streams
	user streams

	4/4
	
	What happens when you hit the API limits in Twitter?
	An error message is shown.
	The time.sleep() method is called.
	The application stops working.
	A 20-second delay is issued and then the request is remade.

	4/5
	
	Facebook can be considered as …
	… both a social and an interest graph.
	… a trivial graph.
	… an infinite t graph.
	… a null graph.
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	5/1
	
	Which of the following statements about A/B testing is correct?
	A/B testing is the cheapest experimentation technique.
	A/B testing requires extensive resources.
	A/B testing determines which specific element on the page is the most influential.
	The results produced by A/B testing are difficult to explain.

	5/2
	
	Which of the following statements about multivariate testing is incorrect?
	Multivariate testing is faster to set up than A/B testing.
	Multivariate testing is a form of A/B testing.
	Multivariate testing tests several combinations of elements on a page.
	Multivariate testing is used when the intention is to make radical changes to a website.

	5/3
	
	Bandit algorithms …
	… slowly reduce exploration time.
	… divide the resources equally between two versions of the page.
	… do not converge at any point in time.
	… should not be used when an organization wants to optimize a metric in a short timeframe.

	5/4
	
	In the context of multi-armed bandit algorithms, what does the term “reward” refer to?
	the number of successful sign ups
	the version of the page that provided the best performance
	the ideal timeframe for an algorithm to converge within
	the frequency with which the exploit option is chosen in an algorithm

	5/5
	
	What does the term “exploitation” mean?
	identifying the version of an organization’s website that maximizes their profits
	identifying the version of an organization’s website that minimizes the organization’s profits
	experimenting to find the best version of a page on a website
	determining the worst version of a page on a website




